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Q1 a) Consider a good with the following supply, Q° =8 +2p.The demand for
the good is given by, QP = 10 where p is the price in Dollars. The government

imposes a per unit specific commodity tax of $2 on producer.

(i) What is the equilibrium price received by the producer before and after the

tax is imposed? Are they different or not?
(i) What is the price paid by the consumer?
(i) How much revenue is raised by the government?

(iv) Find the elasticity of demand and supply and explain its effect on incidence

of tax.

(3+2+2+2=9)



b) Explain the conditions for the efficiency in the provision of goods that are
non-rival in consumption but excludable and provided in the market by

consumption sharing arrangements. (9.75)
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Q2 a) What are the two primary determinants of deadweight loss? Graphically
illustrate the case of a tax that is borne partly by consumers and producers

using a compensated demand curve that keeps the old utility constant.
(4+5.75=9.75)

b) A chemical producer dumps toxic waste into a river.The waste reduces the
population of fish,reducing profits of the local fishery industry by $3,00,000 per
year.The firm would eliminate the waste at a cost of $200000 per year.The

local fishing industry consists of many small firms.



i) Apply the Coase Theorem to explain how costless bargaining will lead to a
socially efficient outcome,no matter to whom property right are assigned (either
to the chemical firm or the fishing industry)
i) “A community held together by ties of obligation and mutual interest can
manage the local pollution problems.” Discuss.
iii) Why Bargaining may not be costless?

(3+3+3=9)
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Q3 a) Explain how ‘the theory of clubs’ can be applied to determine the

optimum size of local authorities. (9.75)

b) Does it matter whether the tax is levied on consumers or on producers?

Does it matter whether the tax is an ad valorem tax or a specific tax if they



are of the same magnitude at the equilibrium? Explain your answer using

diagrams. (5+4=9)
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Q4 a) “Smoke from a factory pollutes the local housing and poisons the river
water where the men of the local housing do fishing, it also destroys the
crops.” ldentify the nature of the externality. Explain how externalities can be a
source of non-convexity. (4+5=9)

b) What are the concerns raised by Surajit Das regarding the goods and

services tax? (9.75)
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Q5. a) “The goods supplied by the public sector have a high-income elasticity
of demand. As economic growth raises income it leads to increase in the

public expenditure”. Do you agree with this statement? Why or why not? (9)



b) Explain with diagram the effect of increase in Income, fine rate and tax

rate on tax evasion. (9.75)
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Q6 a) “Presence of externalities will result in the competitive equilibrium failing
to be Pareto-efficient.” Explain in context to market inefficiency. Use diagram to

support your answer. (9.75)

b) Describe the organization of multilevel Fiscal system in India. Briefly
discuss the Tax and Expenditure assignments and intergovernmental transfers

in India. (9)
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